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noose the correct answer:

1-Ali is ( tall — taller — tallest ) than Ahmad.

2-lImad is the (intelligent -more intelligent — most intelligent) boy in the class.
3-He is (so- such — to ) fast that he won the race.
4-She is ( nice — nicer — nicest ).

5-your grade is ( bad — worse — worst ) than me.

6-it was ( so — such — because ) a nice weather that you spent the whole day on the beach.
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iS O comparison

Do as shown between brackets.

(correct)
1-He has so much books that he can hardly carry them

2-1 was such tired that | fell asleep on sofa

3-Khalid was the better boy in the school. ..................

There

4-English is easy than French. .......................
5-He spends so many time working that he rarely sees his friends

Combine the sentences with so...that or such.....that.

1- The children were tired after their school trip. They fell asleep on the bus

2- The Arabian Oryx was an endangered species. It was extinct in the wild.

write the correct word under each picture { diamond — desktop - oryx -shark }
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